Central Angle  *central angle is equal to the arc between the endpoints
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Chord segment lengths:
part * part = part * part

Secant segment lengths:
outside * whole = ontside * whole

Secant/tangent segment lengths:

outside * whole = outside * whole
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Central Angle  *central angle is equal to the arc between the endpoints
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Inscribed Angle  *inscribed angle is half the measure of the arc between endpoints
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Inscribed Quadrilateral

A+C=180
B+D=180




Ch. 10 Circles Concept Review
msAOB = mAB
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Central Angle:
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Intersecting Chords inside circle:
msBED == (mﬁD +mdc)
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Angle outside circle formed by secants/tangents:
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Angle outside circle formed by secants/tangents:
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mcABC = 2 (mAFC —mAC)

Angle outside circle formed by secants/tangents:
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Inscribed Angles intercepting same arc:

Inscribed Angle Intercepting diameter:

Tangents to circles are congruent: {party hat

Chord segment lengths:
part * part = part * part

A

Secant segment lengths:
outside * whole = outside * whole

Sx+l¢ = 6(14)
bx+i6=9¢
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problems):

7X-35x1 1

D= b

Secant/tangent segment lengths:
outside * whole = outside * whole

X= %))
X= 48

[x= VB = 45 = (28



Ch. 10 Circles Concept Review

Central Angle: msAOB = mAB

A 80°

Inscribed Angles: msLABC = %mAC

A 100°

Intersecting Chords inside circle:
m£BED = 5 (mBD +mAC)

Angle outside circle formed by secants/tangents:

i _
msACE = 5 (mAE - mBD)

Angle outside circle formed by secants/tangents:

1 —
mLABC = 3 (mAFC -~ mAC)

4

Angle outside circle formed by secants/tangents:
1
mLABD = (mAD — mAC)

Inscribed Quadrilateral Property:

A+C=180
B+D=180

Congruent chords in circle:

Zo°




Inscribed Angles intercepting same arc: ' Inscribed Angle Intercepting diameter:

E ) 3

Tangents to circles are congruent: (party hat

problems):

T,

Chord segment lengths: Secant segnﬁent Iengthsi Secant/tangent segment lengths:
part * part = part * part | outside * whole = outside * whole | outside * whole = outside * whole




